Unit 3 Problems 

II

1.) If a force of 5N is exerted at 0 degrees and another force of 3N is exerted at 180 degrees, what is the resultant?

2.) If a 750 N box was lifted to a height of 2.5 m, how much work was done?

3.) If the work in problem #2 was done in 15.5 s, how much power was used?

4.) If a canoe was traveling 1.5 m/s at 42 degrees and the current of the river was going 2.7 m/s at 32 degrees, what is the resultant?

5.) If 1500 J of work was done on a football that was thrown with a force of 60 N, how far was it thrown?

6.) If 700 W of power were used to move an object 10 m for 17.8 s, how much force was used?

